
1

2

in
~

to rear

PHILIPSX

reclaim the streets

10mm socket wrench rubber hammer
needle nose plier
(recommended)

PACKAGE
CONTENT

PHILIPSX

reclaim the streets

Use the anti-theft Torx key to take out the
front light, and then disconnect the wires
from the light.

#4, #5 allen key

clamp (right,left)
x2

carrier
(including light wires*2)

x1

headtube
rubber dampener

x1

light
holder

x1

M5 cap
x2

M6 cap
x1

M5 washer
x2

M6 washer
x2

M6 screw
x1

M5 screw
x2

anti-theft Torx key
x1

TOOLS
YOU
NEED

1

3

2

Assemble the light into the carrier and clip on the light holder. Check that the hooks of the 
light holder are well clipped into the carrier. Use the anti-theft Torx key to tighten the screws
on each side of the light.

Connect the wires coming from the
carrier to the light. The connectors with
two BLACK wires go to the “In & ~”
connection. The connectors with
RED-BLACK wires go “to rear”.

Assembly Guide
front carrier

anti
theft

anti
theft

3



M5 washer1 2

5Put the head tube dampener on the clamp. The 3 pins
on the dampener fit into the holes on the clamps.4 6

M5 screws

M6 screw

Knock here

M6 cap

Fully tighten the M5 & M6 screws.Connect the light wires and install the assembled front
carrier. Push the front carrier as close to the frame as
possible so that the pins on the inside of the clamp
inserted into the holes at the front of the top tube.

The Netherlands

FRONT CARRIER ASSEMBLY GUIDE
2015

Mauritskade 55
1092 AD Amsterdam 

+31 (0) 20 3307401
info@vanmoof.com


